MCR3UI  Unit t :Funetions & Equivalent Aleebraic Expressions
1. Determine whether g(x) is the simplified versions of f (x). Ifitis, then state the restrictions
needed. If not, determine the correct simplified version.

X +11x+30

=x+5
x+6 ’ g(x) xr

a) f(x)=

x’-16

7 terts S()=x+4

b) f(x)=

. P 46x+5 .
c) j(x):-—-x—x—-l_);——, g(x)=x

X +10x+16 ( )_x+2
x+2x-48"

d) f(x)=

xl=
x-6

12x* =5x -2 4x+1
e) f(x)=—Ws g(x)

2 —
F(x)= S5x*~23x-10

—_23x-2
Sx+2 8(x)=—23x

x+4 3x%-9x
3 » g(x)= 3 2
x“+9+20 Ix’ +6x° —45x

g) f(x)=

F(x)=(x+6)(x=8)+(x+16)(x+3),
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F(x)=(x+5)(x=4)=(x-8)(x-1),
g(x)=2(5x-28)

Answers  Unit 1 : Functions & Equivalent Algebraic Expressions

X+

a) Yes; x#£-6 b) No; f(x)= :,x¢4 c) No; f(x)=x+lLx%-5 d) Yes; x=-8,
x-
)
e) Yes; x# = ) No;f(x):x—S,x;t-é g)f(x):g(x):—lg,x;t ,—4,0,3
X+

h) equivalent; no restrictions i) not equivalent



